>
N = 0l & At & Ml A
2020ME £ 15 BB YA ~ XA
SN gas
M Q48 BOUA WEAD 75
ol UMS BIMNHIA 25 CER-ED
SA - () - NRANY - BES 0 &k 7= HDz2
LS 743,034 678,454 64,580
YAZ FHXX HWERID 2= 653,314 588,734 64,580
LA S HFAMHA HE 653,314 588,734 64,580
HEAMHIA 2229 228,923 214,343 14,580
201 Let24E] 204,556 189,976 14,580
01 AFR2telHl 32,380 27,800 4,580
OMEEXIIN XA B2l
8,000 252 102 2,000 0 2,000
OFArZel 228 2¢ 1,500,000& 1,500 0 1,500
O&F=IINEZ 40,000 =9 & «304 1,080 0 1,080
02 224l 172,176 162,176 10,000
OFAXE mA2e 5,000,000 *2CH 10,000 0 10,000
THoholl'gt =2l=3 of2 210,000 160,000 50,000
401 AIEBIZ 2 CHYI 200,000 150,000 50,000
01 A& HI 197,840 148,380 49,460
OS0IS SHAB th+2 FHIAY
25,000, 000& x98.92% 24,730 0 24,730
OHBOIS AEB W42 HulA
15,000, 000& x98.92% 14,838 0 14,838
O0l&el &uitS =2 ZHISA
10,000,000 *98.92% 9,892 0 9,892
03 Al S THHI 2,160 1,620 540
OTHaHol e =2I=& diZ 50,000,000% *1.08% 540 0 540
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N = 0l & At & Ml A

20208 =& 1 3 LA LA ~ AAMH

2N BB
o HSH NN UWEND 25

230 dFZIMHIA 25

oS o

HE . E(BA) - NRAY - BYS 0] &b 2 p/E-T 2
ERgsil 533,725 471,725 62,000
HSH WX HWERIDA *= 477,565 415,565 62,000
29 dIMHIA 235 477,565 415,565 62,000
FOIEO MEEHH A 71,220 59,220 12,000
101 @14l 8,500 3,500 5,000
04 JI2ZtHZ22HEE =+ 8,500 3,500 5,000
OFE8Y =Xga =34 5,000,000 5,000 0 5,000
401 AIEHI L 201 44,000 37,000 7,000
A& HI 44,000 37,000 7,000
OFSYH ST WH A 7,000 0 7,000
THotolly =el=3 oz 158,000 108,000 50,000
401 Al HIZ 201 I 150,000 100,000 50,000
01 A& HI 148,380 98,920 49,460
el THoholl 23 At 9,892,000 9,892 0 9,892
Ogtwel THol ol &3 At 9,892,000 9,892 0 9,892
O&Sel THol ol &3 At 14,838,000 14,838 0 14,838
S=c| THoH Ol 23 At 14,838,000 14,838 0 14,838
03 AIE 2 THHI 1,620 1,080 540
OTHo ol & =2l=sJolfl 2 540,000 540 0 540
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A & 0l & AF 2 E A A
P020H T = 1 8 WEN UAS ~ XA
2N 2
M 290 XX UWEAT 25
Sol: 2oel BHMHIA 2t CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
2orp 521,059 466,059 55,000
20 HOHXZ UEAT 2= 451,979 396,979 55,000
S0 BIMHA B 451,979 396,979 55,000
HMHA ol 151,179 149, 179 2,000
201 L2yl 114,676 112,676 2,000
01 AL 22l 18,430 16,430 2,000
OBAXIIA E4 SHl  8,0008+252 102 2,000 0 2,000
THOHO FRI® of 2 158,000 108,000 50,000
401 A& HI LS Oh b 150,000 100,000 50,000
01 Al&HI 148,560 99, 100 49,460
OH20I2 T3l o ALY 0 9,900 £9,900
Soe MARIE X FHIB A 9,900 0 9,900
O3I10H2 TH3H Ol 2 At e 0 19,300 £19,300
ontgel S2EIHIA 9,600 0 9,600
Ostgtel X2 EHBA 9,700 0 9,700
O20tS TH3H ol & A 7,460 0 7,460
OBA0LS T o ol 2 A2t 10,000 0 10,000
O4DI0lE AR2EEIBA 14,000 0 14,000
OS2 THaH ol 2 AreS 9,000 0 9,000
O2Y £FDHHIBA 9,000 0 9,000
03 Al 2 THY| 1,440 900 540
OA& 2| 50,000,0002! *1.08% 540 0 540
xessg 29 40,940 37,940 3,000
401 A& H LSO 8,000 5,000 3,000
01 Al&HI 8,000 5,000 3,000
O%e =229 81.24 8,000 5,000 3,000
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= A
N = 0 &8 AFH Y & A AN
20208 & =& 1 3 LU Lags ~ XAH
SN AT
M. ANEHH ZFOHXX UWERIA 2=
CHol: MEO MEAHIA 23 (et @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
AlEH 490,235 416,235 74,000
AEo HHIUX WERIT 2= 431,195 357,195 74,000
AT HEAHA 235 431,195 357,195 74,000
=olmol MEsr i M 119,956 95,956 24,000
206 24l 18,000 14,000 4,000
01 24l 18,000 14,000 4,000
ORARA EX 2 4,000,000 4,000 0 4,000
401 AlZHIZ 2 62,000 42,000 20,000
01 Al&HI 62,000 42,000 20,000
OHAIRA 23 3tE FHH| 8,000,000 8,000 0 8,000
OHAIR A 2vE A 4,000,000 4,000 0 4,000
OBAIRA @F 2 =XE 84 8,000,0002 8,000 0 8,000
THaHole =02 163,000 113,000 50,000
401 AlEHIZ =2 155,000 105,000 50,000
01 Al&HI 153,380 103,920 49,460
Osl™ AN THOH Ol 2HAFS
15,000, 0002 *98.92% 14,838 0 14,838
Od™E =2 THoH Ol 2 AFS
10,000, 0002 *98. 92% 9,892 0 9,892
OA&l™ ADE THOH Ol 2 AFS
15,000, 0002 *98. 92% 14,838 0 14,838
OAlE Jtgel THoll ol & At
10,000, 000! *98. 92% 9,892 0 9,892
03 Al& 2 HH 1,620 1,080 540
OGO =0I=21 ALY 150,000,000 *1.08% 1,620 1,080 540
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= A
N & 0l & AF & & A A
020 = £ 135 YLEN MG ~ XA
SN s
HE: 440 HOUK WESAD 25
SRl HAB BHAHA 23 (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
g8 424,296 377,296 47,000
40 #OIXX UEHD 75 356,096 319,096 37,000
S0 #IAHA 23 356,096 319,096 37,000
FOIEO MEBEY HA 90,199 103, 199 13,000
101 1218l 38.819 45,819 A7.,000
04 IAHIEZTSES 38,819 45,819 A7,000
OZUAXY oL 0% 0 3,000 3,000
OXZEIOIMA ¥ T2¥ 22 4 0% 0 4,000 £4,000
206 TH2 bl 6,000 2,000 26,000
01 THEHl 6,000 12,000 6,000
OXZEIOILA % S2¥ BAXY M2 7
d 0% 0 6,000 6,000
THohole Folsg of 2 158,000 108,000 50,000
401 Al 2 = CH | 50,000 100,000 50,000
01 Al Hi 148,380 98,920 49,460
OHBO0LS 42 FHl 15,000,000 «98.92% 14,838 0 14,838
OZ=0t2 THaHOILA  10,000,0002! *98.92% 9,892 0 9,892
Od%2l 42 Fbl  15,000,000%! ~98.92% 14,838 0 14,838
OLBOIS 52 ZF 10,000,008 «98.92% 9,892 0 9,892
03 Al& = CH ] 1,620 1,080 540
OTHHOI FBI=g o2
150,000, 0002 *1.08% 1,620 1,080 540
HI2AHY (H4D) 68,200 58,200 10,000
EET 68,200 58,200 10,000
S48 Jl= 68,200 58,200 10,000
401 A4 2 = CH | 10,000 0 10,000
01 Al Hi 10,000 0 0,000
OFA =8 BYl ¢ 31 24
10,000,0002 14} 10,000 0 10,000
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N = 0l & At & Ml A

PH @4
M o4 FONA UEAD 75

SHol: Q40 BIMNHIA 25 CER-ED

SA - () - NRANY - BES 0 &k 7= HDz2

S 696, 133 643,133 53,000

eH FHIX UWERKID 2= 614,913 561,913 53,000

a0 HAMHIA 25 614,913 561,913 53,000

HEAMHIA 2229 241,582 238,582 3,000

201 Let24E] 177,939 174,939 3,000

01 AFR2telHl 45,448 42,448 3,000

onges s2&dotd dJ+¢ 3,000,000 3,000 0 3,000

THotollgt =2l=3 of & 198,000 148,000 50,000

401 AIEHIZ 2 CHYI 180,000 130,000 50,000

01 A& HI 178,056 128,596 49,460

Os& s2 ZE3AM 10,000,000 *98.92% 9,892 0 9,892

Oda s2 ZEIA 10,000,000 *98.92% 9,892 0 9,892

OY= =2 HHIZSA  10,000,000& *98.92% 9,892 0 9,892

OUE s2 ZHIA 10,000,000 *98.92% 9,892 0 9,892

OddE =2 HHISA 10,000,000 *98.92% 9,892 0 9,892

03 A2 2 THHI 1,944 1,404 540

OTHoH Ol & ==l =

{0
=
R

50,000,000%1.08% 540 0 540

- 302 -




>
A & 0l & AF 2 E A A
P020H T = 1 8 WEN UAS ~ XA
S ERAL=T
a: Moo UK WEND 2=
ol MEB BIHAMHIA 28t (B9 ®R)
2N -3 -2 (SH) - NHEAMY - BES Off &t 24 I E M Husz
Mlesr 393,260 343,260 50,000
MES BORA WERD 75 308,060 258,060 50,000
Mleien #EALIA 28 308,060 258,060 50,000
Zolme MEEZ N 55,880 55,880 0
101 124 Hl 20,000 17,000 3,000
YSIEEEPETPS 20,000 17,000 3,000
OS0&E ©2% Z#J 22 5,000,008 5,000 2,000 3,000
201 Lur2 HH| 6,500 9,500 £3,000
01 At 22l | 2,500 5,500 3,000
Onl2 2 T2¥ BAXH FHIYX
2,500,000 2,500 5,500 £3,000
THoH O FRIe of 2 158,000 108,000 50,000
401 AIEHIL 2 THHI 150,000 100,000 50,000
01 A& HI 148,380 98,920 49,460
O+dz2l L2 A 20,000, 000! *98.92% 19,784 0 19,784
OgMel WERBA 10,000, 000! *38.92% 9,892 0 9,892
Ozl 6t& S4+22M
10,000, 000! 38.92% 9,892 0 9,892
0222 Z& S2ZAM 10,000,0002 <98.92% 9,892 0 9,892
03 Al = Ch bl 1,620 1,080 540
OTBHoI Y == 312 50,000,000 *1.08% 540 0 540
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> A
N = 0l & At & Ml A
20208 = =& 1 3] LESH YAF ~ AAMH
AN HAHH
M M FOHAUX WERZD 2=
Selr gAY dIHAMH A 23 (Sl & &)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
SAHH 369,448 317,448 52,000
AN FHIX UWERKIA 2= 309,248 259,248 50,000
SAHE HAHMHIA 25 309,248 259,248 50,000
THoH ol =0l==& o Z 163,000 113,000 50,000
401 AIEBIZ 2 THEI 150,000 100,000 50,000
01 A€ HI 148,380 98,920 49,460
OHlI20te SHEX 0 0 9,892 9,892
OHlI20t2 =2 FH
10,000,000 *98.92% 9,892 0 9,892
OZ& == ZFHISA 10,000,000& ~98.92% 9,892 0 9,892
Odl= HUZ Ex=ZA 5,000,000 *98.92% 4,946 0 4,946
OstE OtAE ZF 3 A 20,000,000 +98.92% 19,784 0 19,784
O=8 SZEEIA 15,000, 000& x98.92% 14,838 0 14,838
03 A2 2 THHI 1,620 1,080 540
OTHolioll & =0I=& At
150,000,000 *1.08% 1,620 1,080 540
HAE2AZH (&AHH) 60,200 58,200 2,000
Jl=23dl 60,200 58,200 2,000
A J2Zdl 60,200 58,200 2,000
201 fEt2E | 19,040 17,040 2,000
02 2324l 5,000 3,000 2,000
OFASA & 2e] 5,000,000 5,000 3,000 2,000
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= A
N = 0 &8 AFH Y & A AN
20208 & =& 1 3 LU Lags ~ XAH
SA: BES
3 =0 FOHUX HWERKZA *=
o 2= HFANHIA 23S (e &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
2EH 525,153 475,153 50,000
ZEH HHUX WERYT 2= 445,773 395,773 50,000
2EH HFH MU A 25 445,773 395,773 50,000
THaHOler =0l G 180,000 130,000 50,000
401 AlEHI 2 =00y 170,000 120,000 50,000
01 Al&HI 168, 166 118,704 49,462
O&X0tS THol ol 2 A HI AL
12,000, 000+98 . 92% 11,871 0 11,871
OAIE THEH Ol 2 AL 14,000,000+98. 92% 13,849 0 13,849
S=20t2 =2 dblAY
13,000, 000+98 . 92% 12,860 0 12,860
OYgs0tE =2 UMY
11,000, 000+98 . 92% 10,882 0 10,882
03 Al& 2 HH 1,834 1,296 538
OTHaH ol L =0l =2 ALY 1,834,000 1,834 1,296 538
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N & 0l & At

OXXl WESRZA 7=
FMHIA 2 et

g Al

SN FH-SA(EN) - MBAY - BES

0% o

Zad 451,320 401,320 50,000
288 FHIX WERID *= 391,180 341,180 50,000
Z&H HAMHIA 25t 391,180 341,180 50,000
THoH ol =0l==& o Z 158,000 108,000 50,000
401 AIEBIZ 2 THEI 150,000 100,000 50,000

01 A€ HI 148,380 98,920 49,460
OZEiE =22 Z AL 30,000,000 *98.92% 29,676 0 29,676
OZZ0tS Mool AE 10,000,000 +98.92% 9,892 0 9,892
OdJI0E s 2 ALY 10,000,000 *98.92% 9,892 0 9,892

03 A2 2 THHI 1,620 1,080 540
OTHooll g =2I=&AY 50,000,000 *1.08% 540 0 540
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>
N & 0l & Av S Z M A
020 S X 18 YEH YMS ~ KA
SN SR
Hu: o0 BONK UEAT 75
Sl SRS HIMHIA 23 (S &2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
S X/ o 360,782 309,282 51,500
HXO FOAE WEHD 75 302,582 251,082 51,500
SXP BHNUIA S5 302,582 251,082 51,500
FOmY MEEHE N 31,700 30,200 1,500
206 H 2 bl 5,500 4,000 1,500
01 M2l 5,500 4,000 1,500
OBLXH WE 7 5,500, 0008 14 5,500 4,000 1,500
THohole FoI=e o 163,000 13,000 50,000
401 N EHIL 2 THYI 155,000 105,000 50,000
01 A&l 153,380 103,920 49,460
OFYOIS THAHOIZAY  20,000,000498.92% 19,784 0 19,784
OJIR0S THAHO A 10,000,000+98.92% 9,892 0 9,892
OSXI0IS THHOIZA  10,000,000+98.92% 9,892 0 9,892
OLE0S MM A 10,000,000+98.92% 9,892 0 9,892
03 Al& 2 ThHI 1,620 1,080 540
OTHEH O FOI=HGHZ 150,000,000 +1.08% 1,620 1,080 540
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>
A & 0l & AF 2 E A A
20208 = =& 1 3] LESH YAF ~ AAMH
M XIAH
M AAME HFOHUX WERD 2=
Sl AAe dHANH A 235 (Sl & &)
SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
Xl AHH 383,115 323,115 60,000
KA EHXX WERID *= 324,915 264,915 60,000
KAHH B MHIA 25 324,915 264,915 60,000
FOIEO MEEHH A 56,690 46,690 10,000
101 @14l 19,170 14,170 5,000
04 JI2ZtHZ22HEE =+ 19,170 14,170 5,000
ORsd 2224 5,000,000 5,000 0 5,000
206 M= Hl 6,000 1,000 5,000
01 =8l 6,000 1,000 5,000
O1sd 2224 Mz7¢ 5,000,000 5,000 0 5,000
THoHolg =ol=& oiZ 163,000 113,000 50,000
401 Al HIZ 201 I 165,000 105,000 50,000
01 A& HI 153,380 103,920 49,460
OQtatel XH ol ol & At 10,000, 000%98.92% 9,892 0 9,892
O=8el sZ2ZEZHIA 20,000, 000%98.92% 19,784 0 19,784
OA&kel TH o ol 2 AL 20,000,000%98.92% 19,784 0 19,784
03 Al =2 I 1,620 1,080 540
OTHaH Ol & =2I=& ALY 150,000,000 *1.08% 1,620 1,080 540
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